CR - Constructed Response
EBSR - Evidence-Based Selected Response
MC — Multiple Choice

MS — Multi-Select Response

ITEM TYPES

SA - Short Answer

TE — Technology Enhanced
WP — Writing Prompt

Session| Item Type MLS Code Answer Point(s) Point Breakdown
1 1 MC 4.NF.C.11 D 1
1 2 MS 4.NBT.A.1 B, D 1
1 3 MC 4.GM.C.6.a D 1
1 4 SA 4.RA.A.2 43 1

4
e X above—
5
e XX above —
8
1 5 _l(_:;((gsﬁsg) 4.DS.A.1 e Xabove 6 1 e All correct for 1 point
7
e XXX above —
8
e XXabove 1l
1 6 MC 4.NF.B.5 B 1
1 7 MC 4.NBT.A.5 A 1
1 8 MC 4.RA.C.7 A 1
1 9 MC 4.GM.A.2 C 1
1 10 SA 4.NBT.A.6 11,436 1
1 11 MC 4.NF.B.8 A 1
1 12 MC 4.GM.B.5 A 1
1 13 MC 4.NBT.A4 B 1
1 14 SA 4.NF.C.9 0.04 1 e Or equivalent decimal
1 15 MC 4.RAA.1 C 1
1 16 MC 4.NBT.A.2 C 1
1 17 SA 4.GM.C.8 22 1
1 18 MS 4.RA.B.5 CE 1
First Set
MS (Paper 1
! 19 TE (gnl?ne; 4.NBT.A.3 Second Set !
0
1 20 MC 4.NF.A.3 D 1
1 21 MC 4.GM.A.3 A 1
2 1 MS 4.NF.A.2 ACF 1
Column 1
1
MS (Paper Column 2
2 2 | (E)m'?ne; 4.DS.A3 : 1
Column 3
2
2 3 MC 4.RA.A3 D 1
2 4 MS 4.DS.A.3 B, C 1




CR - Constructed Response
EBSR - Evidence-Based Selected Response
MC — Multiple Choice

MS — Multi-Select Response

ITEM TYPES

SA - Short Answer
TE — Technology Enhanced
WP — Writing Prompt

Session| Item Type MLS Code Answer Point(s) Point Breakdown
2 5 SA 4.NF.B.6 % 1 e Or equivalent fraction
) 6 CR (Paper) 4.GM.B.S Ray drawn at 50° 1
TE (Ol’llll’le) angle
2 7 MS 4.RA.B.4 B,D, E 1
2 8 SA 4.NBT.A.2 85,020 1
2 9 MC 4.NF.B.7 D 1
2 10 MC 4.GM.A.1 C 1
2 11 MC 4.NBT.A.6 D 1
2 12 MC 4.GM.C.6.a B 1
2 13 MC 4.RA.C.6 C 1
2 14 MC 4.NBT.A.1 C 1
1, 2, 2 (in any order)
2 15 TCER ((gsﬁsg) 4.NF.B.5 OR 1
1, 1, 3 (in any order)
2 16 MC 4.RA.A.2 D 1
2 17 MS 4.GM.A.2 D, E 1
2 18 MC 4.NF.C.9 B 1
2 19 MC 4.GM.C.8 D 1
2 20 MC 4.NBT.A3 B 1
2 21 MC 4.NF.B.4 B 1
3 1 MC 4.DS.A.2 B 1
First Row e Order of rows does not matter
Secjr'ufiLzRow e 2 points for all three rows
3 2 SA 4.RA.B.5 33 2 correct
Thir(; Row e 1 point for 2 rows correct
46 e 0 points for 1 or 0 rows correct
Apple
6 symbols or
equivalent
CR (Paper) 1 Peach e 2 points for all three correct
3 3 TE (Online) 4.DS.A.3 4 > symbols or 2 e 1 point for 2 correct
equivalent e 0 points for 1 or 0 correct
Pear
3 symbols or
equivalent
3 4 SA 4.DS.A.2 27 1




